
C

2 31 4

B

A

D

E

F

LK01 MF

07.11.2024E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 1 OF 10SCALE: 1:20

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Sandboxes on legs



 7
00

0 

 3500 

 4
00

0 

 500 

safety area

C

2 31 4

B

A

D

E

F

LK01 MF

07.11.2024E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 2 OF 10SCALE: 1:20

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Sandboxes on legs



box 1

box 2

box 3

box 4 (box 1)
C

2 31 4

B

A

D

E

F

LK01 MF

07.11.2024E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 3 OF 10SCALE: 1:20

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Sandboxes on legs



 50  50 

LK01 Box floor 1

 92,50  50 

LK01 Box floor 2

 92,50  92,50 

LK01 Box floor 3

C

2 31 4

B

A

D

E

F

LK01 MF

07.11.2024E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 4 OF 10SCALE: 1:20

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Sandboxes on legs



LK01 side 1075x145 with notch

LK01 side 1075x145 with notch

LK01 side 440x145

LK01 side 440x145 with extra holes

LK01 Box floor 1

bolt M6x35 DIN7380
bolt M6x35 DIN7380

box 1

B

C

D

1 2

A

321 4

B

A

5 6

C

Sandboxes on legs

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

REVISION

PART NUMBER / DWG NO.:

DRAWN

APPV'D

NAME SIGNATURE DATE

MATERIAL:

DESCRIPTION:

SCALE: 1:20 SHEET 5 OF 10

A4wood, metal, plastic
WEIGHT: 

E.Reispere 07.11.2024

LK01 MF



 92,50 

LK01 side 440x145 with extra holes

LK01 side 1075x145 with notch

LK01 side 1075x145 with notch

LK01 side 440x145
LK01 Box floor 2

LK01 side 1075x145

LK01 side 440x145

LK01 side 1075x145

LK01 side 440x145

LK01 Box floor 3

box 2

box 3

C

2 31 4

B

A

D

E

F

LK01 MF

07.11.2024E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 6 OF 10SCALE: 1:20

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Sandboxes on legs



5

11

5 

8

7 9

 8

6 11

2

 

 

10

12 
 

2 box 1

ITEM 
NO. DESCRIPTION

2 LK01 side 1075x145 with notch
3 LK01 side 440x145
4 LK01 side 440x145 with extra holes
5 bolt M6x35 DIN7380
6 LK01 leg plastic 100x295 L
7 LK01 leg plastic 100x295
8 LK01 leg plastik 100x180
9 LK01 leg plastic 100x455 for two boxes L
10 LK01 leg plastic 100x455 for two boxes
11 bolt M8x25 Art.9121
12 barrel nut M8x16 Art.9121

C

2 31 4

B

A

D

E

F

LK01 MF

07.11.2024E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 7 OF 10SCALE: 1:20

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Sandboxes on legs



4

1

2

3 

5

5

6

box 2

box 1

4

4

ITEM 
NO. DESCRIPTION

1 LK01 leg plastic 100x615 
2 LK01 leg plastic 100x615 L
3 LK01 leg plastic 100x340
4 bolt M6x35 DIN7380
5 bolt M8x25 Art.9121
6 barrel nut M8x16 Art.9121

C

2 31 4

B

A

D

E

F

LK01 MF

07.11.2024E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 8 OF 10SCALE: 1:20

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Sandboxes on legs



A

DETAIL A

box 3

box 4 (box 1)

box 2

6

5 

2

1

2

1

3

4

7

8

6

7

5 

5 

7
7

ITEM 
NO. DESCRIPTION

1 LK01 leg plastic 100x615 
2 LK01 leg plastic 100x615 L
3 LK01 leg plastic 100x455 L
4 LK01 leg plastic 100x455
5 LK01 leg plastic 100x340
6 bolt M6x35 DIN7380
7 bolt M8x25 Art.9121
8 barrel nut M8x16 Art.9121

C

2 31 4

B

A

D

E

F

LK01 MF

07.11.2024E.Reispere

WEIGHT: 

wood, metal, plastic A4
SHEET 9 OF 10SCALE: 1:20

DESCRIPTION:

MATERIAL:

DATESIGNATURENAME

APPV'D

DRAWN

PART NUMBER / DWG NO.:

REVISION

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
WEIGHT ARE IN KILOGRAMM  

Sandboxes on legs


	Sheet6
	Drawing View9

	turva
	Drawing View13

	Sheet6(2)
	Drawing View12

	põhjad
	Drawing View6
	Drawing View7
	Drawing View8

	Sheet1
	Drawing View1

	Sheet3
	Drawing View3
	Drawing View4

	Sheet2
	Drawing View2

	Sheet4
	Drawing View5

	Sheet8
	Drawing View10
	Detail View A (1 : 13)


